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1. When you exercise ,your body uses that extra fuel to keep you going strong.

2. As you do aerobic exercise and bring in oxygen ,your heart becomes stronger.

Db e B Ll Gl s e aladl | G 5mS) 5 sl (i aS ) shailes

3. | saw Hossein as | was getting off the bus.

P (o0 03l e i) D) e AS (S5 e | ) e (e

4. Hasan has a very strong body because he does a lot of exercise.

83 (e pladl (5555 dalle S5l 4S el BB A 00 SG e

5. Execise helps protect you from injuries since it gives better support to your joints.

S Cylen g Led Jalia ) el cl 1) saglad calbdlae by ol 311 Ladi B 0 e S a5t ()

6. Since you are unable to answer perhaps you should ask someone else.

Aen 5 8 padid 3 ab Led s ai gl 4 Hald Led aS Ll )

7. As he was too tired ,he didn’t feel like going to the gym.

g oL 4 AS CuBla G gn glea g il LA o) aS

8. We asked sadegh to come with us ,as he knew the road.

alid el eala s 0 smedise a8 La L G a0 dl 3 Gola i L
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9. Exercising is an excellent way to feel happy whether you do it alone or with your
parents.

_Q\m\;ﬁ&\g\.}gme@l@t@;ﬁq\)ﬂ?‘m ald Gbaald )y e o) 5 S0 Gasad (B

10. Look, Borna ,I'm calling the doctor ,whether you like it or not.

AL ol A G gy g dacaion S0 L ulad Jla o Gacli S oG

whether ,since ,because ,as ,when <l & Ls hiw@
Sl Gla Gl o gt AS il | o 22083 Ly CilalS il 89T ES TS TS OO EEEOOEeeEeEeereeeererereseereeciy

s, e ol s

AS

@MMQC\]\AU:\\ 2 J.\:\S\GAO\AS\ faé’,!d’.dj‘dl MUJJ&J)&@@JGM\@&A:OUJG&JLQJ -1

Cand S alKia "

| saw an accident as | was walking home.

A oo A Gyl 4y 45 ol aan ) ) Caalal S (e

Wil o A e g As Glla ol )33 gl ol gy O gl ) et Jald (s eaiaa dayy -2
As | was too hungry | stopped to buy a sandwich_

s gl SQ U aa S G aa g diu K LA g

When

4\.3When d\;uﬁ\ B _Jﬁ\.}o.ﬂ:\é\ dm\ J.{JJJ&GJ/.",!JAG @Jﬁwoé&u\ GA&Q:OLAJ'@OJ:\AJLQJ
Ml—i‘sﬂ " Lf.ub ”

When | heard the door bell, | opened the door

A0S L1 o aad ) &S laa 48 alKis
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Mary joined the national basketball team when she was 21.

Gl 21 45 oK 25 Gale JliSo e ati 4 5

Since /because

a4l b 5 i€ Ol 1) oS pla/ L o) 55 (e 48 55 (o S0 (alBin LS (gl 1l (sl saiaa bay
Qb "D Ly Y Gee 4 because gsince Gl gl Gl sala aladl 1 S pads

She didn’t go out because it was raining.

2k oo UL Jun Sy Osom )

Since the exercise is too easy, we can easily do it

o aladl | O (Bl 4y ol 85 e Lo Cans) ol jlanss 00 5 A5 fely

Since the weather was fine, we went out for a walk

A Qom0 a8 ) e ag cgdas lga aS Sl

Whether......... or

" G4 Whether.....or . </ Slls bl b ob o 2aiad Gl 48 Canl (5] 4K Glla oaiaa oy

......

You will have to accept it whether you like it or not.

A0 L 28l 433 G |y o A 2 Jad ) lal ek

We must do all these exercises whether they are easy or difficult

Ol Ll i 8 s Al | Ly ol L
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Age 59

L;ﬂ@ab)&/%gu@u;_ﬁ;swww\u Qiq)l..ais\@éaija)'g}dﬁaduaﬁ)\S%’ since S
i o 48 ol s sl QS 5 g a5 e 2 5 Crns

Since

355 on AS ([ pbe ) JalS s Glaj 3 5l A4S e I T Gina Ay il ol s ) R (S

| have lived in Mashhad since | was born.

A oS (Kai) agdia p3al ol Agia aS laj J/ e

A}JGA)\.S‘\_}J.'\SLAA 9 ‘;JMCJBJJM&&AU_L@; #J@AQ&AJJJ&Mu&\
He was walking as slowly as a turtle.
g 15y SV K Kt 4y

HELP, MAKE, LET Jad/ 4 xS

LT e Aadlin 4S i Jlad) ) oaary 33518 ald 3 Sl A1aS 48 5o asa 5 Jladl ) aliie g 53l D) o
Ospad Madl o ()55 oo Jladl iuad () 3 L0 Lo/ o g v il dg) IS 4 o S Jad

iy o) ) ol Ly o Jladl ) 8l ) a3 o S el promise, try, believe, wish ,...........
a8 Sy S help, make, let dad 4w a S Laday) 5 5o ls 2al lady) jo aiiua

ol il KTy ClalS 4 51 0y 4 57, IS da Ty ol o 4

Good eye contact helps your audience feel more relaxed.

S (5 ial )T (el Lad Jlikalie 4 35S o CSaSe adia b i Gl Ll )

A smile |ets your audience know that you are human and trustworthy.

At aldie) BB 5 G go Gl Lad calagdy 4S 2ia0 e o jlal) ladalae 4y aiand oSG

Asking questions can make the audience concentrate on your speech.

A S pate 35A Lt 4y | lhblie 48000 e n e e Il sm
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g Jod o Jgria 3l amy 5l 4B Sl 8 Jeedohelp, make, let Judl 3 s 23S e s2lia 4S ) shilas
10 Osn srae e GLS 5 attia Jerde ) GlS | i/ 0 0ldin/ O ot s

2l (e [0 s ias G sear Ab Al Help Llet make o 4S anS o s 8 4ags 4 S0l aril 55 o G
i e 55 4alS Al am a8

Make

Let + Jgran+tO jgai jaon

Help

ol Jad ol JR g 4l JRETO (5% rean ) sk IO

TO Judy yde A JIETO Lo sad e Sy ad 2l 55 shelp ) das Jad o agee 4507

He helped his wife do the dishes.

s ) Gk AS 3 sal (S (i et 43 )
He helped his wife ro do the dishes.

S sk AS 3 gad SS i et 43 |

(e A Uan yadidy Glaj ild ciad da g e o Ky i cilalSAS 258 Jsha (5) 0505 A 55 A5 Gl 40 MLLT
A

Gerund

4l a oo da 0,10 350 )\ o sales) 450S g o) paie) s Gy 53 (Je8 HNQ ) AS adld oo (255 4 Sr
S 5 L) Jd JSCE (il ) (5 s 3 53 )

A e ean ) B a8 LS (€ il dn s a8 e LS dn 5 ad 4 ) O0lea 4y
1. Put feeling and energy into your voice by practicing.

A3l Ao glaa 3 1) 3 5 psbeal o Gppaily

2. You can involve your audience by asking them some questions.
A i s 1) 358 Gaaliie s O o b ) 55 (0 Lads
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3. You can add variety to your speech by raising or by lowering your voice.

A 5 3gA ) sl Ay (I 2 ol 3 Y 1 g e

Sl pad odiind py AalS o ) J g ke ing-form cigar SG e B ClalS sl iy 0 4S ) ghilas
A e gerund 4alS £ g8 ol 4 il

250 e Gerund b s mpm S 41y ad By 49/ cign ) dag aan) sy asilia

By + J=& + ing
adjective phrase < b

G el R ISt 5o Jad Caa LSy den Jielan (5 4nn i 50 4S i€ )i G Cd ) Sl 4
(2nle 8 8 33l 525 03 )l COea (s sla ja a8 F 5y JAls Gl agea Hla

1.a. all over the world there are people who pollute the environment. (clause)

Ailaiy o3l | Jasna 4S 23 )13 352 5 (600 i1 Olea alad o

b. all over the world there are people polluting the environment. (phrase)

Ailaiy 03l | Jasna 4S 25 )13 352 5 600 il Olea alad o

2.a. energy which comes form fuels like coal and oil is used to heat and light our home
(clause)

2l e des 4 e (5 48R a8 (2 10n 5 Gake S 0 A (e i 5 JIe ) aitle sla g ) 4S 550

b. energy coming form fuels like coil and oil is used to heat and light our home (phrase)

Al e dae 4 gle s AdA Gasal a5 Uile R 0 A e i g Jle ) aiile (sla G g 1 4S (5 5

3.a. most plastics which are made form oil are difficult to recycle (clause)

L0 gl il Jh A8 ) e Gl a1 pd e JSES A4S e SR ih

b. most plastics made form oil are difficult to recycle (phrase)
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4.a.the photographs which were taken of the earth were wonderful (clause)

it Clla 2sd e a8 K e ) 4S (5 sbaal

b. the photographs taken of the earth were wonderful (phrase)

Al s 2igd o 4% R () ) 4S (5 sl

L\.@Aﬁ.\:\.’w‘\s_))hw LA :ﬁw Cbe o GMlea g atiaa :ﬁw QJLA‘A‘;.AA QQMYDQMJJG
S s s J) ) (K)o cilalS ) pdpe plods 4l S5l pf i SBlea 43 @ SDlea Ja

Gy padoalen Jad al h OBl 4 g OOl Jaad Ciga SBlea pl 0 2t o slae D3lea 257 sl JBa
dg.\ﬁk"_tg.;&"_lhug\)éMJJPAQM4}3L5\AJMA)A(&)MQMS)J}IMy|ng_form
(S s S ) assais s (past participle)) smie as) JSG 4 Al alea Jaé b4 @ Solea

cada alea i (S5, G SWS)  to be (are,were)ddl b <Maa 2 453 s Ja o Lin e 4S shila §
i) sad

() 028 03 19 i 4 eudba 5 4adE)

S o dae s oaud 4 hay & jlbe 4f Jido SOlan) dea g e Jad Ciga
_(&J@]QLAS )ﬁﬁwuhdu)\ \)uJ)m}AﬁLm'aﬂ
e e i ing _ formdSdian )y alea Jad Gl glas alea aniliaz2

S e cada alea S (t0 be) dad il Jseae e 4xiliac3

Modification of adjectives

Ol 1) clia 31 o8 o S o sa s U sl o Jls an Bl lusaiiy e Ciliia g Cida L 4id K gla Jls
a8 w1y enough, such, t00, SO S sy IS Gyl 3, S

AT sl o GlalS g atis Gdia e B Gl WS Gy A ) lea 4y 1)
1. The earthquake was so strong that it destroyed the whole village.

DS b)) Uiy ) alai 4 3 g xiai )8 Ld o5 ) (e )
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2. The earthquake was so light that only special instruments could record it.

S a5 (e s 35 5 1) 1 AS (5 4 03 (i) 2 y8) g0 Sp oS a3

3. It was such a strong earthguake that it destroyed the whole village.

20 35 1 Uy S 4S 335 05 58 431 oS e

4. It was such a mild earthquake that only special instruments could record it.

S dasa | o Gl 65 e ald )l L aS (250 aS 1 (e ) D )a8)a 5r (il 4l 3y S aiila (ol

5. The emergency telephone numbers like police are easy enough to remember.

_J.'\)ﬁzd_)}h\.}‘\smQM‘@SGaJ\&\Q(MM}M)GJJFGQQéﬁb_)\.aﬁz

6. Only a few people stay calm enough to help the injured after an earthquake.

Ailad SaS o)) (e ) ) am s Gl a3 je 48 ila ol T GBS (5 0 il 4 pde ) (g) ae Ladd

7. They had enough maoney to buy a first —aid box.

s ) A S (sl duaa 4S i3 LES g L]

8. They had enough confidence to help the injured.
LATEED 10 Gl led ja 4o (53 et S (5 (LS alaie ) Ll
9. Some instructions were too difficult for us to understand.

s Aa gie aS Lo sl g Hlsda L s laial ) D) salaas

10. Most people were too frightened to do anything.

alide ) gal Al aladl (o) o atia g 3 LA a0 e i

Ol
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S0, such, too , enough <lelS 48 oy (s 23 5 ca (53 43 2l 0o S Gy od Ko, cllS 4y R
oo ed L) A via Gl 0 sl e LML ) p e b i) e KD s i 4

SO+ <dw L Ld+that clause

1. The film was so good that | saw it twice.

228 o805 Ol Dl 50 (e 4S 2 pd Hail oL

2. She ran so fast that she forgot to take her keys.

S el i | G 48 303 Cie s 4y

Such+ (<dw)+..)+that clause

1. I've never met such friendly people.

A2 Cune b a8 e je o8 (4

2. It was such a funny_joke that we couldn’t help laughing.

_ﬁ.'tSdJ’.'\.'\S\Jdﬁoﬁﬁhd\ﬂhﬁéx‘g‘)\énﬁd»‘)ﬁj

ol o2 4Ll 8 30 5 Jab Jady (e 40 dd ids G/ (Kas Gidia SUCH ) a2l 48810 4n g5 40T

Too+ < +(for+d s=is) +tob Hras

1. The coffee is too hot to drink.

Sl g1 sl 53 95 ) 0568 O

2. The lesson was too hard for us to understand.

) Sa sl Oegd () 2 O
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A Jlie diile 3 g Cada ) (San (FOF +U smia) atinn (o0 48 55k et 1 407

5563 () an S 0 aS o8 1 Jle jo D dpd oo dio dlad 2 g¢da 3 gl e sdldin) 100 ) AS S A
J,.\.&J.\J}JGA.\‘Jcﬁﬁ@u‘@uuﬂ&&u‘&\d)@u&gﬁf&\}

cdeatEnough+(for + Jsaia)+tol Hoae
1. He is tall enough to reach the ceiling.

2y ALEDY s i s 43 4S ) il 8 8IS o il 4y )

2. The exercise was easy enough for me to do it.

o2 aladl | O S 35 el (IS 0 511 45 (g () 3 G2 e

e diila 38 Caas alas ) _\3\)3‘5.4(for+dy.§.o)e:\}j@)5'aho)\4}a:m

Wl (AS b i) A4y e 4 enough Rz iy

Enough+a«A(for+d s=aa)+tok Hras
1. Mary had enough time to read his novel.

S0 Gle 0l 5 ) BS Ol e

2. There is enough money for you to take a vacation.
(Casl 3 g g D3dant g G () Lei (5 0 AS I sy
1J U il 28 cada alea ) 23 68 a(for +d s2e) D jlie 48 280 48l Hhld 4y il

5o W A5 Gl s e 0585 JB dadia sla 430 5 la Jlale ) il ea 5 K05 480 430 dia Vs 3 ()
@, M gsdbgaion g gy aadl Al 5 el b Juii &S SO (Al ) sel el adliulia g o Gaas

o] p1h ] i) | e IS ) Ly ASKT Sl sl Aul)

Al oo Gdo JjIJET00 s SO DS 1
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o Lt a) S il Ladis Cds ) sl ol a4l o e cdas )/ Jdsuch:2

o o I e b awl ) S enough:3

WAl oddiuThat clause < keSuchsso s 4
.l wto L e Enoughstoo ) 2 5

Dsd oa is dlan pggda i e 03liin) TOO ) 4S oK 16

expressing cortrast < plie by

A8 L, ol b pa B0y L el o sedas ine 4S pam i a1 0len b i€ e gl 1) e L il ) a8
IS (5 e S ) a5 oo il po ai€ s 21 S0 Su L W 5 sl 348 ) clla 5 ail oA e
O e A a5 S 4 Lkl 3 AS aiS sl e

A Aa g g b iy b 6 IR Cudle | 0 Gy ) O e 4

1. Some people prefer to work for the government, while others like to be self
employed.

S S a A (sln) _\AJDL\“};Q\)?\;'AAS‘::\EJ‘AﬁSJLSd}qd\)gASmsGA@;)S\q)N ) galaxs

2. While this work may be really boring, it is not child labor.

(23 alail 1y IS () s S 8), ot (S8 58 (Jle)mbia JIS ol dily o2ii€ 4l aiSan IS () 4S

3. Ali comes from a rich family, whereas has to work hard in a factory.

_JSS)\S&L\MM&)\SJJAQ}_}‘\SQ\AJJ‘M M})ﬁbd‘ﬁ\;dﬁ)\é&‘_

4. Whereas rural children usually work in agriculture, some children in urban area work
in trade and services.

S e S lexd 5 Slad )3 (5 ed Bhalie )3 PSS ) (A caiiSaa IS (5508 0 Y sanae (i) PSS 48 s o

while , <llS 5 aiia dbiad jo Jlee Blal 4y 0 8 5 o OOlea WS o oaalia by JUa j24S ) ghailaa [T
gy oo IS Ay plae SBlea ol L) g (S Ll o) s whereas

) s Jlale anily 4idl A g8 Adas i JE g cadle US4 3b 4alS 0 Gl 0 5018 4 oK o fage DT

28bade alen 3 J &5 O il 52 15 e
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-Js) aleac While/whereas a5 4les
-While/whereas+dJ 4lea ¢ 50 aloa

S iy & 5 e Ay i€ a yspeab L) S0 Jlie is s
1. While peter works very hard, his brother is very lazy.

(sl ot ey G50 ol (58 Gt Jls i 4S (s

2. While jack is a clever student, his brother is lazy .

sl o ()3 jn ol Gl s SaaS (s

3. Some people like team sports, whereas others prefer individual sports.

A8 g ) o) Gl (a5 B (A a8 o aipl Cussa 1) a5 R sl (s a8 (A

o S a5 Js) Alaa u Ja g ciadle aig ) S0 ke J5) 2 while, whereas SllS asilia jage 4057

A e saliiud 4aS g3 ) 51 U8 a8 pg Caedle 2 s saliinl ales Jaw s 50 4alS o ol asilia Wl 0

S e 0liiu) S that Lso as in order to ¢S Cusia (5 IS alail 5 Coa 43 aal ) sl 53 0 4S8 Ka
Expressing purpose i by

in order to, S0 as t0, SO ke e Sl i€ Cuaa (5 S aladl 1 aoa 43 aal) a3 (0 aS alBa
A5 e odiiul that

1. My brother is reading a book on space exploration so that he will get more
information.

JJ.\Q\JA‘\AJSA\JGJMQLGM‘J\&‘}M‘M@LABQBLJES\JJ}AJJ@IUSL)JJ\PJ\A_)AUAJJ\}

2. A space probe is a robot vehicle used to_ explore deep space

R o A i) 3y ga (rae (sliad CiS (5] AS G b A Al g o (lad R satua S

3. Muhammad moved to a new apartment in order to get near his work

12

https://konkur.info



L]

Ol

«pn ol e Ol ) sy
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4. Today's scientists use the Hubble space telescope so as to understand the earth,
solar system , and what is beyond.

S a1y Cad G ) 8 4ail 5 el 4 shaie (e ) U aiS e saliiind Jila el QS ) g el Olaiadil

_e‘}b‘)g‘i‘n\}n_jts\.ﬁ duAM?‘JﬁS\JJJ“AGMJ‘)JMd\A%

modal e Jdl 3 (So Y sena SO that ) e 298 e ealdiul )18 oladl l caaa lw ) » So that. 1
L5l o 02l ((can, will should could) verbs

Jlia

1. Ali goes to the library so that he can study in a quiet plac

201 aallas 4 CSLe S8 o il g Bag ) e adlali€a e

2. Ali went to the library so that he could study in a quiet place.

3318y Aadlae 4y sl A8 ) gy U b ) ABAUS 4y e

(D SLS) il oa (10 O 5% sdas) b JS05 43 Adiaad J2d () GlS) pald SeS Jladl Hlany 1 o 9/b
S oaliind 35 10 b oLpad s Clla 1 a5 e IS alal ) Gia s (s .2

1.1 lay down for a minute to relax

A ) e UariiS )53 (o) 488y (e

23l In order to 4S0 as 10 s Sobke ) al g Yo JUe 0T lSla ) sl say 4xilia 3
?73"5 odl.éla\_ﬁ

A€ da g g JBe g4

1. He moved to a new apartment in order to be near his work.

iy S35 QIS Jae 4y B S (S JAT Baa Gl ol 4y
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2. She’s going to the post office so as to buy some stamps.

_JEM&J\M&A})@%cJ\J\@}\

odlu JS5 3 b 3 inorder to, so as to Cijlbe ) ax WS esaalie s Jhs 0 a8 ) shailes [age 400
i Jad ool IS5 K o/ 0098 LS WL sla QUi 5o 0 S saliial (10 O Hras)dad

Expressing contrast Cplia Sl

Ll 0, a0 S G 2t Oyl 023 Gl 4S While, whereas ossed S 4 paal ) 418K 5l oy 3
010 (o Aad (Dl 80 4lS s iy 0 4

i€ oK ) ilen 4y 2ip i
1. Although the internet provides many services, it has its own problems, too.

A0 finad ad |y (i G (g e )la gl ) sl e < i) as K

2. Many people are not able to use the internet, even though it is available for the
public.

5L dsa se agee g iyl R) Jin i€ saldil G i) Sl 4S a5 et 28 ) L

3. Though reza has a personal computer, he doesn’t use it very often.

A i o (5 il g cale ) (Jgea a add jisudS Laas S

Ao 90 a2 4S i) e JISe 8 5 2t 4a R es 45 although, even though, though <ills
Doasd s Olea ) € i LK g Cudle 4 aly SIS () 0 S84y o s Ll KsSh a1 e
(diius aa Ldbaie 5 plaa oline Llad

Modals+have+pp

s aiwy modal verbs cnze Jdl a Jladl o) aiea WET might, must, should, <llS L led s
Jadl Gl ) 5 800 2 S Al sd e dla ) 025 il () Cilpa a5 Jlad) ol L 43338 gla Jls 50 2558 w
2S oy naa Ll

1. Mother Teresa devoted her life to the poor .she must have been a very kind person.

2L e e 38 0o 3l 51 Cand a3l abiail i 4s 15 258 (S5 15 oba
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2. Edison had signs of a serious hearing problem .this may have been the reason for
his poor performance at school.

AL Al 3 gy Cama 3 S ee il Gl R gl LIS a3 JSiie S p0le () gaa)

3. Mother Teresa spent all her life helping the people of India what she did was great
.but people in Africa are much poorer and | believe she should have helped them
instead.

4ol 5l adiina (e g ATt L LA By 81 a0 pe Lol g e ol aladl dia ad pe 4SS Gha | 0a (Saiyala 15 jalk
LS SaS L sla

Al as S 4 have+pp o 4 4 S must, may, should <l YU sla Jia ) 3y e 4S ) shile
live Ly Abis o 8 42l K o)y musSt have beencbe 1S o salie Sy Jlia j24S ) ghailes
odliin) s dga g JKe/ by < might have been <& )le a0 e 50 28 (e saldind e (A8 cile DUl
o S osha Gl 4B ) K4y dua e S gly Sga should have helped <obe asw Jia 5o ol 00
oS (520 a0 oy gea |y Y (gl 4 ol i

May/might+ have + p.p

50 Yp2san 2 sa 43 ) linadal Clla ) 50,3 0 e 02l ALGS 0 o) ded) g Jlads/ Gl Cga AL o)

Tina was absent yesterday .she may/might have been sick.

) 04 60 yiay ya Ylada) o) 2 g cale jg pa s

Must+ have + p.p

Clla 5035 (o S Ay 4SS Jlaj o drdly Ky 4 g Curdad U, dbale gLl Sy Gl Cga UL o
) %9553 4 )l (lisell

Tina was absent yesterday .she must have been sick.

i) 0450 g ya Lad 5l a5 ule s L

Should +have + p.p

15
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N oadd 5l e ddan o ggda s (53 25 (o S 4y A0S Gla J i 4 47 S Ol g AL Gl

1.You should have helped the poor (but you didn’t)

(2 SaS Ll ) S o Kas) j28 4y gy g Ladd
2.1 shouldn’t have asked him for help. (but | did)

(23S CSaS a5 53 Ll ) oS oSS sl g o 5) ) il e

i) Slasdy o203 alail (5 )\

umjmj\dwew‘;aémmewﬁﬂ\ﬁd;b&wsJ...\.\Sgao&um\ﬂhﬁh‘)dﬁ‘)‘,hmcg
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